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Quiz 6 Report 

10/11/2021 

1. Summary 

 

 

 

 

 

Total number of students 10 

Attended 8 

Missed 2 

Average grade 9.19 

Standard deviation of grades 1.07 
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2. Comments 

 

 Most students approached correctly to solve the problem 

 One student could not solve the problem well and he couldn’t find the 𝜋0, 𝜋1, 𝜋2 

 One student made a mistake when he derived the 𝜋2 which should be the form of 

Reynolds number 

 Some of students could not answer for the pressure changing when the velocity is 

doubled 

 


